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 BECC-110  

B.A. (HONOURS) ECONOMICS 

(BAECH) 

Term-End Examination 

December, 2021 

 

BECC-110 : INTRODUCTORY ECONOMETRICS  

Time : 3 hours Maximum Marks : 100 

Note : Answer questions from each section as per 

instructions.  

 

 SECTION A 

Answer any two questions from this section. 220=40 

1. What basically characterizes an econometric 

study ? Describe the various steps to be followed 

in an econometric study.  

2. What are the objectives of econometric 

estimation ? Explain how the regression model  

Yi = 1 + 2 Xi + i can be estimated by OLS 

method. 
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3. Explain the concept of multicollinearity. What 

are its consequences ? Discuss its remedial 

measures.  

 

4. What is meant by autocorrelation ? What are its 

consequences ? Describe any one method of 

detecting autocorrelation. 
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 SECTION B 

Answer any four questions from this section. 412=48 

5. How is the term ‘coefficient of determination’ 

defined ? How is it obtained ? What are its 

interpretations ?  

6. Define heteroscedasticity. Describe the steps you 

will follow in detection of heteroscedasticity by 

using one of the methods. 

7. Distinguish between the concepts estimator and 

estimate. Describe the properties of a good 

estimator.   

8. What is meant by a dummy variable ? Specify a 

regression model by using intercept and slope 

dummies. Interpret the model. 

9. What are the basic assumptions of a classical 

regression model ? What types of problems do we 

face when these assumptions are violated ? 

10. Specify regression models of the following forms :  

 (a) Semi-log model   

 (b) Double-log model 

 Interpret the parameters in both the cases. 

11. Write a short note on the concept of rejection 

region and types of errors in hypothesis testing.  
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SECTION C 

12. Write short notes on any two of the  

following : 26=12 

(a) Dummy Variable Trap 

(b) Jarque-Bera (J – B) Test 

(c) Gauss-Markov Theorem  

(d) Confidence Interval   
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 ~r.B©.gr.gr.-110  

~r.E. (Am°Zg©) AW©emñÌ 

(~r.E.B©.gr.EM.) 

gÌm§V narjm 

{Xgå~a,  2021 

~r.B©.gr.gr.-110 : àma§{^H$ AW©{_{V 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  {ZX}emZwgma àË òH$ ^mJ go àíZm| Ho$ CÎma Xr{OE & 

 

^mJ H$ 

Bg ^mJ go {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE & 220=40 

1. AW©{_Vr` AÜ``Z H$s _yb {deofVm Š`m h¡ ? AW©{_Vr` 

AÜ``Z _| AnZmE OmZo dmbo {d{^Þ MaUm| H$m dU©Z 

H$s{OE &   

2. AW©{_Vr` AZw_mZ Ho$ Š`m CÔoí` h¢ ? ñnîQ> H$s{OE {H$  

Yi = 1 + 2 Xi + i à{VJ_Z _m°S>b H$m Amo.Eb.Eg. 

{d{Y Ûmam H¡$go AZw_mZ bJm`m Om gH$Vm h¡ &   
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3. ~hþgaoIVm H$s AdYmaUm H$s ì`m»`m H$s{OE & BgHo$ 

n[aUm_ Š`m h¢ ? BgHo$ CnMmamË_H$ Cnm`m| H$s MMm© 

H$s{OE &  

 

4. ñdghg§~§Y go Š`m A{^àm` h¡ ? BgHo$ Š`m n[aUm_ h¢ ? 

ñdghg§~§Y nhMmZZo H$s {H$gr EH$ {d{Y H$m dU©Z  

H$s{OE &   

. 
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^mJ I  

Bg ^mJ go {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE & 412=48 

5. ‘{ZYm©aU JwUm§H$’ H$mo H¡$go n[a^m{fV {H$`m OmVm h¡ ? `h 
H¡$go àmßV hmoVm h¡ ? BgH$s ì`m»`mE± Š`m h¢ ?   

6. {df_{dgm[aVm H$mo n[a^m{fV H$s{OE & {H$gr EH$ {d{Y H$m 
Cn`moJ H$aHo$ {df_{dgm[aVm H$m nVm bJmZo Ho$ {bE Amn 
{OZ MaUm| H$mo nmbZ H$a|Jo, CZH$m dU©Z H$s{OE &   

7. AZw_mZH$ (AmH$bH$) Am¡a AZw_mZ _| A§Va ñnï> H$s{OE & 
EH$ AÀN>o AZw_mZH$ (AmH$bH$) H$s {deofVmAm| H$m dU©Z 
H$s{OE &  

8. _yH$ Ma `m Am^mgr Ma go Š`m A{^àm` h¡ ? AdamoYZ 
(A§V…IÊS>) Am¡a T>bmZ _yH$ Mam| H$m Cn`moJ H$aHo$ EH$ 
à{VJ_Z _m°S>b {Z{X©îQ> H$s{OE & Bg _m°S>b H$s ì`m»`m 
H$s{OE &  

9. EH$ nma§n[aH$ (Šbm{gH$b) à{VJ_Z _m°S>b H$s _yb _mÝ`VmE± 
Š`m h¢ ? O~ BZ _mÝ`VmAm| H$m Cëb§KZ hmoVm h¡, Vmo h_| 
{H$g àH$ma H$s g_ñ`mAm| H$m gm_Zm H$aZm n‹S>Vm h¡ ?  

10. {ZåZ{b{IV ê$nm| _| à{VJ_Z _m°S>b {Z{X©îQ> H$s{OE : 

(H$) AY©-bKwJUH$ _m°S>b (go_r-bm°J) 

(I) {Û-bKwJUH$ _m°S>b (S>~b-bm°J)  

 XmoZm| pñW{V`m| _| àmMbm| H$s ì`m»`m H$s{OE &  

11. AñdrH¥${V joÌ H$s AdYmaUm Am¡a n[aH$ënZm narjU _| 
Ìw{Q>`m| Ho$ àH$mam| na EH$ g§{jßV {Q>ßnUr {b{IE & 
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^mJ J  

12. {ZåZ{b{IV _| go {H$Ýht Xmo na g§{jßV {Q>ßn{U`m±  

{b{IE : 26=12  

(H$) _yH$ Ma Omb  

(I) OmH©$-~oam (Oo – ~r) narjU  

(J) Jm°g-_mH$m}d à_o`   

(K) {dídmñ`Vm A§Vamb   

 

 


